
Assembly instruction

Smillson umbrella base

Article number: 4198-8/4198-05

1

A B C D E F GH I J

4PCS1PC 4PCS 1PC 1PC 4PCS 4PCS4PCS 4PCS 4PCS

M10*17 M8*102*40 M6*85*32 M10*20 M8*20M10*2.0 Ø17*1.5 M8

A
B

D

H
F

C

J

I

G

E

B-bag screws C-bag screwsA-bag screws

Use A-bag screws

Don't tighten the
screws until you have
all screws on.

Use B-bag screws

Don't tighten the
screws until you have
all screws on.

Use C-bag screws


